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Question ID : 719399752
Status : Answered
Chosen Option : 4

¥ STafRT AEEErE THES BRI FT T FIT gem?

=MAX(1, 8>12, 10)
Ans K112

v'210

X3 8

X 41

Question ID : 719399783
Status : Answered
Chosen Option : 3

¢ mEwETTe A F a9 E WIEA & FaT ST &
Ans x1ﬁj§
v 2 T
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X 4 EEg
Question ID : 719399780
Status : Answered
Chosen Option : 3
Q.4 FEswwETe TEEe 2016 39 WES & G B 7 & TFHEA TR FHBT TElT gl
Ans o 1 xlsx
X 2 xls
2 3 xlm
X 2 Xlpx

Question ID: 719399779
Status : Answered
Chosen Option : 3

Q5 mgrzFrEire 95 2016 TEaRS F U arfasr & 3fOFan fhas Fraa & T6a 87

Ans X1. 83
v 2 63
X 3 36
X 4 56

Question ID : 719399777
Status : Answered
Chosen Option : 2

Q.6 o F & 3e7 TEgHeor A FF W TEAE FH @ FH U S FEw AN 7T F T5gT w82

Ans X 1. EBCDIC

X 2. ASCII-8
v 3 BCD
X 4 ASCII-7

Question ID : 719399762
Status : Answered
Chosen Option : 4

Q7 e & FUET ASHAHE deheileh T FATT Feh [Gehiad [T 7T |

AnS o1 gt
v e
X s Sraldr
X« gEd

Question ID : 719399751




Status : Answered
Chosen Option : 4

Q-8 g gaw & e Fud TE & T el

(i) ETer TE I8 FY 39 g AR SH ATSHETE EaRT Terar S gl
(i) T v 3w T o & e A sErer 3R ATseETTe gERT e e g

e K G) - =@ GN) - w@

v 2 (i) - 7o, (i) - e
X 3 (i) - =&, (i) - T
X4 (i) - 7T, (i) - TEr

Question ID : 719399793
Status: Answered
Chosen Option : 3

Q.9 BT 71T AEFHGE TFET FFUT T THIE ¥ AT F wiaeE AT 2 O e feer F g @ oA
HEAT W grEfr?

=MIN(3, 1255, 4)
as o1
X25
X34
<43

Question ID : 719399784
Status : Answered
Chosen Option : 4

061 o & @ #iF Ta Fua = v

(i) ASHETE T5 F ‘Flee’ TaE AFE Bield & T FEiE omewe Cil+D F1
(ii) FAEHHEFE 9% SFAE # FEE F Ao HIET W= & T A9 aidwe Crl+E ¥
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Question ID : 719399776
Status : Answered
Chosen Option: 1

Q.1 fw # ¥ Fia & == USB wer Ay Rarsw ¥ B v Fogew @ g9 # 2@ aiafd s ¥ R
1 oy o =1 w12

Ans «1,&?{5133




X 2 gerdr BT
X3 CD
X 2 DVD

Question ID : 719399756
Status : Answered
Chosen Option: 2

2  size to multiple pieces of text?

Ans X 1. Cross reference

/< 2. Clipboard
/< 3. Drop cap

« 4 Format painter

Q.1 Which of the following is used in Microsoft Word to quickly apply the same formatting, such as color, font style and

Question ID : 719399774
Status : Answered
Chosen Option : 4

X 2 gre-Afeew
X 3 SFale

Q; AeT PSS 37 W ofF 35 ¥ AT F91 = GF F GART S 2
e X1 e

Ans X 1. e @

v 2 Bleg, §H

X 3 R, FemEa
X 4 Blee; BamEa

( 4.5
Question ID : 719399755
Status : Answered
Chosen Option : 4
Q.1 AEswre 7E 2016 #, el g # watEe AN gmitEe fMwed gwe @ g
4

Question ID : 719399775
Status : Answered
Chosen Option: 3

% e # ¥ FiT T 95 Fad aeeday a8 87
Ane X 1. Microsoft Word (FTesraree J%)
v 2. OpenOffice Impress (FIAHTTHE SFIH)




X 3 WordPad (F5U%)
X 4 OpenOffice Writer (3913 E TS<T)

Question ID : 719399771
Status : Answered
Chosen Option : 3

061 e 7 ¥ B AsedTe 38 craRe G & O ger adt B ST geear 87

"KL I g T AI(sae)- B HY
X 2
WSS 3’ T SIA-Feo F{ AT ‘Open’ FT =TT F{
V'3 FIT FIET HEFT W FF FL

X 4 IS HBHA FT I F{ AN Enter FT gamT

Question ID : 719399772
Status : Answered
Chosen Option : 3

U Roee 7 ¥, ARFEGE TR F S 3@ H JET g g
Ans x_l. m
X2 ofry
X 3 Jeq
v i g

Question ID : 719399781
Status : Answered
Chosen Option : 2

% T § @ FiF O AeeEve R & S BFe A8 27
Ans x1' MAXAU

% 2 MINA()

« = MINIMUM()

% 4 MINUTE()

Question ID : 719399785
Status : Answered
Chosen Option: 2

% e AsEaTTe THAe GERIT FT FAT A g

=POWER(2, 10)




Ans - X 1. HINAME?

v 2 1024

< 3100

X 4 20

Question ID : 719399786
Status : Answered
Chosen Option : 2
Q.2 gier & TaEs ot WU w0 & v, sufEg w7 o T WY TOAE ToEs ¥ TeEs At @
0 o vt & fw cufem & g T

Ans 1. Shift+F4; F4
> F5; Shift+F5
X 3 Shift+F5; F5
X 4 F4; Shift+F4

Question ID : 719399800
Status : Answered
Chosen Option : 3

Q.2 OLE ¥ gey &, o TEGET F 99 Fewe ia wear g, i
T smmr i

XK T, i
X 2 fifaer, uEanfder
v o RifeT, TefE
X 4 vrafeEe, Rt

wfterher 7 et

Question ID : 719399767
Status : Answered
Chosen Option: 3

% Windows Tfesheis & Heer &, OLE & 90T &9 T &7

Ans 1. Online Linking and Embedding
+ 2 Object Linking and Embedding
# 3. Online Linking and Embarking
< 4 Object Linking and Embarking

Question ID : 719399766
Status : Answered
Chosen Option : 4

Qézmﬁaﬁ.‘ﬁ:am#aﬁmm%ﬁﬁ%ug T T FT B

ans K1 HTTPS




X2 HTTP

v 3 TCP/IP
< 4 SMTP
Question ID : 719399789
Status : Answered
Chosen Option : 4
Q.2 35 Windows Tfeerera F1 wU=pd R ST &, & 77 fEe i e % 9T U T

4 ymEww ¥ = F v g R
Ans 31 gTEee AT
X 2 A IX
W 3 TEHATT

wr

X4 FTeER

Question ID : 719399768
Status : Not Answered
Chosen Option : --

L e & ¥ FT TR P A 2
(i) e AAd & gerer #, wor FAY F @ SR s @ B
(i) DRAM, SRAM @ efi#r T 21
M FEe (i)
X2 & ar (i) 7 & (i)
X 3 (i) 3fiT (i) a=t
X 4 Faer (ii)

Question ID : 719399754
Status : Answered
Chosen Option : 3

062 o= # ¥ FiF 98 e T 2le?
(i) CD-R t% geies 3% ¢ 31 vga & s v 3o & e 3t aw 3o & 59 = oma &

S &
(i) CD-RW # RW eTl & H¥ “read and write” £1

e K e (i)
X2 aar (i a (i)
v e (i) 3R (i) @t
X 4 e (i)

Question ID : 719399757
Status : Answered




l Chosen Option : 3

Q§2 o & ¥ FiF & FeaF SEeh vh T gFe Yo e § o 99 Feaer 3 92 A §7
Ans 1. Mesh

X 2 Bus

X 3. Ring

v 4 Star

Question ID : 719399788
Status : Answered
Chosen Option : 2

Q2 gfe M # ASCIl 1= 01001101 &, & N & ASCIl ®rE a1 g2

Ans 1. 01101111
#< 2 01011110
v'3.01001110
2 4 01001111

Question ID : 719399761
Status : Answered
Chosen Option : 2

Q.2 FrmTe e & e d @ # @ Reew aE g BT 39 § oo § FeTs 5 R S 87
9

Ans x 1 LEN{]

v 2 LOG()
3 LN()
X 4 LOG10()
Question ID : 719399787
Status : Answered
Chosen Option : 2
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e X 3or R e (colons)
X2 gor REs
W 3. 3eataH e (commas)
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Question ID : 719399794
Status : Answered
Chosen Option : 2
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Question ID : 719399760
Status : Not Answered
Chosen Option : --
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Question ID : 719399782
Status : Answered
Chosen Option : 4
Q.3
s UH YEmH g A O 6T e
A o g
X2 g
X s AT
X 4 HIT
Question ID : 719399765
Status : Answered
Chosen Option : 2
043 HISFEIRE TS H, 32T 3 SRz frr ST & S 9fEeet AR Fow & B # BT s
Ans
X1 g=g
X 2 TFFe 9199
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Question ID : 719399778
Status : Answered
Chosen Option : 2

Q.3
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(i) iTed ger favee =1 gord & 3T &6 I97 & 9N ¥ e 7% FA9N &9 ¥ U &
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Question ID : 719399790
Status : Answered
Chosen Option : 4

Q.3 T AR FWHeSw ¢ S ESd FawEt AR Fegel gomet $r FieHear S sgae H
6 ¥ fre BeEr
e X E Gt

X 2 e weea
X 3 FEYT TWFeIIT
v 4 T Een

Question ID : 719399764
Status : Answered
Chosen Option : 4

Q.3 =& #19 Windows # HTgel U1 SHYFET H$H= 1 997 HI & R Rive T fFehe ot w1 wwary
7 garx ¥ & Fm @em?

Ans K-L
WS a7 SET My Documents Hiest & =il SiTaai|
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v 3
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Question ID : 719399770
Status : Answered
Chosen Option : 4

% R v et # ¥ Fia @ fwa B2
o ddErE

X 2 Srars

X 5 gemater

X 4 #A3H




Question ID : 719399759
Status : Answered
Chosen Option: 1

Qé3 T # ¥ ST oUd e Ted 5

(i) 3R AT 9T W ASAT AT T F 9IS A9 HBIAES A3 W Ford w27 wife)

(i) $Her & TEw H, BCC WS Black Carbon Copy & 71

e XK () 3R (i) @t
W 2. e (i)
X 3 Faer (i)
X4 Far (i) 7 ar (i)

Question'ID : 719399795
Status : Answered
Chosen Option : 1
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Question ID : 719399796
Status : Answered
Chosen Option : 2

Q.4 3pI 3T UF ACHHETE Uit UET TASs F GUA FF FoSS BUT (F155 TA5E) ey & 9ua

T 5 & 7 aom

Ans «1
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X 4 FolgE FEJARIOT § g e

Question ID : 719399799
Status : Answered
Chosen Option : 4
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Ans xl @Il'
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Question ID : 719399791
Status : Answered
Chosen Option : 4
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Ans x.l_ m

v F% ToES
X 3 miFe deT

X< 4 iy
Question ID : 719399798
Status : Answered
Chosen Option : 4

044 FEFEITE 95 Sraes & RErs # FE off v @y & 9 Fee w0 st Fr Fafaa e
Ans  oC 1. ITFT

X 2 ZEares

X 3 gl

v 4 g

Question ID : 719399773
Status : Answered
Chosen Option : 3
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X 4 AR E sFuE

Question ID : 719399797
Status : Answered
Chosen Option : 3

Q.4 Fora given number (e.g. 14), which of the following number systems will use the least number of digits (or symbols)
6 for its representation?

Ans  of 1. Hexadecimal
/< 2. Binary




/< 3. Decimal
/< 4 Octal

Question ID : 719399763
Status : Answered
Chosen Option : 2

e XK e (i)

X 2. It (i)
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Question ID : 719399769
Status : Not Answered
Chosen Option : --
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Question ID : 719399792
Status : Answered
Chosen Option : 4

Ans X . TEm A

X 2 SDRAM
X 3. SRAM

v 4 Fitor AR
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T (7lieeT 3 {59 TEEW) $ERVT Y S 87

Question ID : 719399753
Status : Answered
Chosen Option : 4

Ans «1. o) a
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X 2 grEET
X 3 grEET
X 4 FHIFTZSAAA

Question ID : 719399758
Status : Answered
Chosen Option : 3

Section : General Reasoning

Ans
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Q1 B & @ FiF @ AT 3T e & Je G99 F @ &7 ¥ AT axar 82

Question ID : 719399819
Status : Answered
Chosen Option : 2

Ans

IF 3% YR FF & sateya fRam ST 82
X15

V2 6 71 AR

X3 2

X2 4

Q.2 Fear 749862135 # 3 F AR G g E, G s Frw s S aw |, Sem mmem |

Question ID : 719399817
Status : Answered
Chosen Option : 2

Ans

frr ar€ 3 Ear & AR @ war @) 9w few Rer F ar @
X1 3eR
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X 2 ofggs
j3.aﬁ.1-u-;
X4 g

Question ID : 719399815
Status : Answered
Chosen Option : 3

Q.4 v =rv i T # @, 986 aF Ue IS SUTET ¥ YR 9T g6 T AT #| 36 MR 9T Jray

e, S o g JE L T WS 3ooR Wig Sie

AXASEEXEEBIRTE?

Ans 1. 49
v'2 39
X3 36
X 4 46

Question ID : 719399813
Status : Answered
Chosen Option : 2

Q5 K, L, M 3R N, &7 #1 3R G FT TF e A F GRE AT & § K, Lk awer F dor §1 M, N

F o AT dor 2 K HT N gy & 0w F 77 85 &1 AT 7 9 S @ = awmem 7

Ans XM, L% 7 gl

q’z,K, LQ-TEITé'BﬁTa'GI'%I
X3 M, K &F Tg 3R a1 2

X+ K N F 77T g

Question ID : 719399805
Status : Answered
Chosen Option : 2

U R # ¥ 3W weE-gIE A T A AV A & Rl o ¥ B ¥

A of 1. FTeT : wIfe

X 2 gfygafeaar : gaa

X3 ey - FAT
X 4 N : =H

Question ID : 719399809
Status : Answered
Chosen Option : 1

7 i ' F T gEy S e w e o i




Ans X1 TS
X 2 g
v B
X 4. drar

Question ID : 719399801
Status : Answered
Chosen Option : 2

Q8 T & ¥ 57 FEaT g o WY FEA & 36 YR F wEeT § O TR ¥ gEl 6w 9ger FE

T T ¥

255 : 16 : 288 : ?

Ans X119
v 217
X315
X 4 21

Question ID : 719399810
Status : Answered
Chosen Option : 2

Y P # @ 9 TEEE 99 S 3w O @ B B

Ans 1. 95 - 82
X 2 55 - 42
X369 - 56
v 48 - 34

Question ID : 719399807
Status : Answered
Chosen Option : 4

061 fw 1T et F @ 3¢ FEeT I Fe TEw gEer # Q  TF

32, 53, 74, 95, 116, ?

Ans <1138
X 2 125
v 137
X 4120

Question ID : 719399803
Status : Answered
Chosen Option : 3

Ul s w iR R g R dsRE e R sw s R Rgsw i ok

T Ry v g sw d W W w A




Ans x_l. ﬁ:’IBT
v 2 "ar
X3 3]

e

Question ID : 719399812
Status : Answered
Chosen Option : 2

Q; o # v gmer & 7% § A wF 92 79 ¢ Rw o fwed # ¥ 3 Reew I S gwen &
o7 S

CE, HJ, MO, RT, ?
Ans 1 UW
v WY
X3 VYW
X4 TU

Question ID : 719399811
Status : Answered
Chosen Option : 2

Q1 mgw, werw 3R fmmw o2 §1 Red & w27 goe @ T e mm & @ ) e 7 ogee @
3 mmfemr e

A X1 =R s
X2 far
X 3 s

& =TT

Question ID : 719399804
Status : Answered
Chosen Option : 4

G & g gl B caegEs 92 3R a9 wa

50 42 43
}9 >—? }?
31 2 11
(1) (2) (3)
Ans ?(1~ 3

v 26
X3 9




X5

Question ID : 719399818
Status : Answered
Chosen Option : 4

e K2 ¢
v 37 af
<310 ¥
X4 39 af

Q.1 B #r 31y ve FEar F 99 §| 98 & 3 9Ee UF FEAr F T O 3W WA 3 ¥ R ¥ w
5 dwm @ ow T ¥ e A of gdew s et

Question ID : 719399816
Status : Answered
Chosen Option : 4

Ans o 1 PTWZ
X 2 NRVZ
X 3 JNRV
X 4 DHLP

U =g Ry F TOT DT I 3T o9 T BT

Question ID : 719399802
Status : Answered
Chosen Option : 1

GUIDANCE
Ans 1. GAINED
X 2 NUDGE
v = CANNED
X 4 DANCE

Q1 R v Reredt & § 38 weg # IET S AT FUAT wmg F et F a7 A€l FHar| 3w F7 v
7 mmamﬁmmm%ﬁmﬁmmmmﬁﬁcmeﬁﬁ?ﬂm

Question ID : 719399814
Status : Answered
Chosen Option: 3

8 oz 3 sifm 3w Far Rvar s
Ans (1. 9

X223

X34

vi5

Q.1 v %z g &, TR MEND & M3ESN4D4 fram o @, & 34 % s & DAIRY ¥ fow oy =rw




Question ID : 719399808
Status : Answered
Chosen Option : 4

S e & @ e R I

A E F K

(1) (2) (3) {4)

X
w
BPwW =N

Question ID : 719399820
Status : Answered
Chosen Option : 3

—_——

Q2 G & & 97 Reped 0 o 5 6T e ¥ 36 e @A § S99 T g e wgeh e @
0 wmfem ¥

LOGIC : BHFNK :: CLERK : ?
Ans X 1. QBKJA
X 2 LPRTU
X 3 XVRPA
v 4 JQDKB

Question ID : 719399806
Status : Answered
Chosen Option : 4

Section : General Hindi

¥ omor & FlF arsEEt B
Ans (1. OT
X2 9T
Xaq
vig

Question ID : 719399826
Status : Answered
Chosen Option : 4

B # FiF T oo =R R
Ans ?(1141"‘&11?




X 2 gfEr

X 4 gerer

Question ID : 719399825
Status : Answered
Chosen Option : 2

P oy F Fa o gEw

Ans

Question ID : 719399822
Status : Answered
Chosen Option : 4

M uyres @ e gem
A o s

X 2 e

X g@

X 4 gepTer

Question ID : 719399830
Status : Answered
Chosen Option : 1

 goger F T T ITTR?
Ans X1 B
Vo
X s 3
Xag

Question ID : 719399827
Status : Answered
Chosen Option: 3

¥ B & g T P @

A 1 ag amar ar & =
X 2 39 FT 2l




X3 H Er g¢ ¥ MU TITET & 18T o)
X o H IAT FIH T Wﬂ?ﬂ'{ul

Question ID : 719399832
Status : Answered
Chosen Option : 2

7 aaE @ wf-faete e
Ans X 1. 3¢ + HIG
K2 3 + A
X 3 39 + A
v 4 3d + Alg

Question ID : 719399821
Status : Answered
Chosen Option : 4

¥ O F #iF T oueg 959 &7
Ans ?(1- ﬁ?

V' 2 Far

X 3 FIT

X 4 T

Question ID : 719399823
Status : Answered
Chosen Option : 2

¥ [ R AT TR FOTE HY
Ane XK T T

' 2 GUTT HIAT

X 3 Ear fegrar

A S Ukl

Question ID : 719399833
Status : Answered
Chosen Option : 2

T P # ¥ a5 & T ¥ e uee A W

Ane X1 Rrsagor
X 2. feaRuT




X3 dreagoT
v o RERoT

Question ID : 719399831
Status : Answered
Chosen Option : 4

Ans xm w
X 2 9deT
P 11

v o g

U B # T @ gar & gIarET a8 3

Question ID : 719399829
Status : Answered
Chosen Option : 4

Ans x1' ‘:iﬁ
2 SauT
X3 @A
?(4.;?';[

Y R AT w o awEAE

Question ID : 719399824
Status : Answered
Chosen Option : 4

U q@er fr FoT TeT F VT PR F awT T

Ans X 1. 37T FI STAT SEE: TS ST &
X2 §eT ¥ &y 9T Fqer

v 3 T Y I, THST AT F

X 4 T FI aTen el FE TSI S

Question ID : 719399834
Status : Answered
Chosen Option : 3

Q.1

Ans o 1 FeTER
X2 FA
X 3 e

4 ‘ST H TEea g S & fOre e g BT B




X 4TI

Question ID : 719399828
Status : Answered
Chosen Option : 1

Ans X 1. FeTETHH
v 2 ST

X 4 STaaTeR

X s ofFqames

%L e BT SR $ T 2

Question ID.: 719399835
Status : Answered
Chosen Option : 3

Section : General English

ARROGANT
A% 1. haughty
/< 2. proud

v 3. modest

/< 4. superior

Q1 Select the most appropriate ANTONYM of the given word.

Question ID : 719399845
Status : Answered
Chosen Option : 1

While Avika

Ans X 1. watered

/< 2. is watering

/< 4 has watered

« 3. was watering

Q2 Select the most appropriate-option to fill in the blank.

the plants, it started raining.

Question ID : 719399839
Status : Not Answered
Chosen Option : --

IMPOSE

Ans

@3 Select the most appropriate synonym of the given word.




X 1 allow
v 2 force
/5 3. manage

X 4 close

Question ID : 719399843
Status : Answered
Chosen Option : 3

Q4 Select the most appropriate phrase to fill in the blank.

Our new typist my expectations.
Ans 1. falls behind
/< 2. falls away

/< 3. falls back on
« 4 falls short of

Question ID : 719399848
Status : Not Answered
Chosen Option : --

@35 Select the most appropriate option to fill in the blank.

Renu has beencalled ~ aninterview [ .a law firm.
Ans 1. in, about
/< 2. at, for
5 3. on, for
W ¢ for, by

Question ID : 719399838
Status : Answered
Chosen Option : 3

Q6 Select the most appropriate synonym of the given word.

ULTIMATE

Ans X 1. immediate
/< 2. next

W 3 final

< 4 first

Question ID : 719399842
Status : Answered
Chosen Option : 1

Q.7




Select the most appropriate idiom to fill in the blank.

The cat made many attempts to catch the mouse but
Ans  of 1. in vain
/< 2 in short
/< 3. in the long run
/< 4 in a nut shell

Question ID : 719399849
Status : Answered
Chosen Option: 3

Q8 Select the most appropriate option to fill in the blank.
He wantstodiscuss  datesheetfor  coming examinations.
Ans X 1. No word required, a
/< 2. the, No word required
X 3. a, the
W 4. the, the

Question ID : 719399836
Status : Not Answered

Chosen Option : --

@9 Select the correct passive form of the given sentence.

People do not take the law seriously.
Ans 3 1. The law is not being taken seriously by people.
' 2. The law is not taken seriously by people.
/< 3. The law has not been taken seriously by people.
/< 4 People are not taken seriously by the law.

Question ID : 719399850
Status : Not Answered

Chosen Option : --

Q.1 B - :
o Select the most appropriate option to fill in the blank.

The stray dogs our colony are a nuisance.

Ans X 1. at
X 2 on
v 3 in
< 4 about

Question ID : 719399837
Status : Answered




l Chosen Option : 3

°1'1 Select the most appropriate ANTONYM of the given word.

TENDER
Ans x1. kind
« 2 tough

/< 3. affectionate
/< 4 delicate

Question ID : 719399844
Status : Answered
Chosen Option : 3

==

Q.1 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part
2 fromthe given options.

The song was so moving/ as all eyes/ became wet.

Ans 1. became wet

/< 2. The song was so moving
« 3 as all eyes
/< 4. No error

Question ID : 719399847
Status : Not Answered
Chosen Option : --

Q.'l i H ) N
, Select the most appropriate option todill itvthe blank.

A fine breeze and the children are flying kites.

Ans 1. has blown
/< 2. blows
+ 3. has been blowing

/< 4 was blowing

Question ID : 719399840
Status : Not Answered
Chosen Option : --

Q.1 2
. Select the correctly spelt word.

Ans X 1. manufachure
/< 2. menufacture
/< 3. manufecture

' 4 manufacture

Question ID : 719399846
Status : Answered




l Chosen Option : 4

Q.1 K i i
. Select the most appropriate option to fill in the blank.

had we stepped out we got drenched.

Ans 3 1. Although, yet
/< 2. Both, and
« 3. Hardly, when
X 4 As, so

Question ID : 719399841
Status : Answered
Chosen Option: 3

Section : Technical

Q1 37 ReT F 997 FY S FI9 397 B quF T@F F 30N F gHEg Fan |
A 1. 30y, TEETEE, BIEET T

X 2 TrETed, e, H

X 3 38, gAr WA, oo

X 4 wIZET TOIH, de, 19H

Question ID : 719399916
Status : Answered
Chosen Option : 3

Q2 Foeaa do-veR & g (QeX) F 39T searatast & o o ¥, 7 B weR & J9 @
Fa g §?

MK e e T & aEE TE
X 2 3=9 iR #AewH AT F 9BH TE9
v e dR e afy & wew g

X o e R 3== ofa & 9sA 7w

Question ID : 719399932
Status : Answered
Chosen Option : 3

oA 3efeTe, Hgfed AT 7 SHTT g gl

Ans X 1.0 & 100 Hz
<210 Hz & 100 KHz
230 % 50 Hz




v+ 45 ¥ 55 Hz

Question ID : 719399939
Status : Answered
Chosen Option: 3

U frw e fawedt # @ P @ oRRET (FEge) F T A 3
e X Tz afwel

X 2 gordr fafcs afweh

X 3. FFT gfizedr

v o ardr afes ofsh

Question ID : 719399971
Status : Answered
Chosen Option : 3

e #r =FE B

Ans ?(13-1'@%
v 2wt drea
X3 o foeie

2 4 gapTer gIeT

Question ID : 719399941
Status : Answered
Chosen Option : 2

¥ v T AT @ PO Regg Ew e
M Sl TR F HEE AT ¥

X 2 9gFd deedr H WeTde g ¢

X 5 3FET HIYfS SleeaT & HiOS & o §

X4 R deear & g Far &

Question ID : 719399914
Status : Answered
Chosen Option : 3

¥ T edee AT gedwteE He & pf g B
Ans xmm

v 2. qeTEITAT
X5 T




X 4 3TIETHAT

Question ID : 719399951
Status : Answered
Chosen Option: 2

Vatafmus _ FdwpEad
A X 1w (FeT) 3R 9
K2 el (%) 3R e (=)
v 3 el (%) HR oA
X o s S o

Question ID : 719399963
Status : Answered
Chosen Option : 3

¥ fv T Beed # ¥ TR O 9R A TEI & ug=E i
ans X138

v'2 40
X315
X4 7
Question ID : 719399861
Status : Answered
Chosen Option : 2
a T 3 & faega-ur T TS F wed § o= S A
Ans X115 mA
X 210 mA
< 3 50 mA
v 4 200 mA
Question ID : 719399852
Status : Answered
Chosen Option: 1
Qi‘Wﬁmmwm F IWIE ' T & v A ST g

Ane 1 SreedeT
X 2. 2fFd IuTs A
X 3 R
K4 FrEArRT




Question ID : 719399935
Status : Answered
Chosen Option : 2

Q; FE 9o & ofFg yeve A Hags uanr gfEase Had & WY IF @ FH gag ST &7

A T C oy
X2 g3 B wadF
X3 F¥ AB g
X4 g A HadE

Question ID : 719399995
Status : Not Answered
Chosen Option i --

Q1 _ wF PNPN 39507 § B@ 0 O Uellcls 9I1C ORT 6aWT =ea & SR Bar o Feer & 3R
3 & woTe e W aE s e o S
Ans of 1. GTO

< 2 SCR

< 3. DIAC

< 4 TRIAC

Question ID : 719399989
Status : Answered
Chosen Option : 3

% amEe & iy & ary, Yeeseer TRy |
AR S

X2 ggar &

X2 gger ggar g T wear g

X 4 FHET §1 E|AT &

Question ID : 719399855
Status : Answered
Chosen Option : 1

% pnpaifoeer & arT _ gaWr waTRd 2 2
S ¢ HFT ST

X 2. 2Tar H1IA

v B

X 4 TET AT

[ Question ID : 719399985




Status : Answered
Chosen Option : 1

Ul v yefdseT &, HOrewAT T8 AR e O % A Feh e g #)
Ans 11 eV

X25eV

<315 eV

X410 eV

Question ID : 719399979
Status : Answered
Chosen Option : 2

Q1 SearafdT (alternator) & ZETT SEET F FeJ W FHAT T T

Ans x1_ m
v afgg
X3 e
X 4

Question ID : 719399933
Status : Answered
Chosen Option: 1

Q; Which of the rooms mentioned in the options requires the highest illumination?
Ans X 1. Kitchen

+ 2. Study room

/< 3. Lobby

X 4 Hall

Question ID : 719399942
Status : Answered
Chosen Option : 4

U v T TR R, s Jeeiedr # A #4632
A 1 tEe § otEr WU

X 2 IOt 3= AT

X tes § FH
/X 4 T FHUMcHS HIA

Question ID : 719399870
Status : Answered
Chosen Option: 3

Q.2




* foe umr wfer & feFafade 9fer # gET w9 @ F A
Ans X gfFemdr areear @ A

X 2 gegradat Oamr #T fEse 9aRT # scere|

X o Ter AT ¥ TR 61 T 9T # I

Y

TEHT SEEA 3T (MNA) T IR F R 3R F5e H 9N F FHhad gl

Question ID : 719399902
Status : Answered
Chosen Option : 4

Q1~2 Ward Leonard system of speed control of DC motor is NOT recommended for:
Ans 1. very low speeds

/< 2. a wide speed range

« 2. constant speed operation

/< 4 frequent motor reversals

Question ID : 719399896
Status : Answered
Chosen Option : 3

L o8 eeT 1 TIa FI

Ans (1

MOSFET veredr, dieedt afae, AlF-efasa 390 gl
X 2

MOSFET grgaa, urr afya, de-effster seor 2

X 2 MOSFET argdr, anr uf¥a, ar-effeer 39=tor g1

x4
MOSFET werydia, dieear faafyd, ar-effiaer sueur g

Question ID : 719399988
Status : Not Answered
Chosen Option : --

Qézﬁwwmu#mmmmﬁmaﬁﬁ & TR g B
Ans .
v 1. ITHEY ORT x 2T faEga aes I
X 2. AT HFIYE *x &
X 5. AP HI3EYE + HIF g




X 4 AEFT AT - B

]

Question ID : 719399905
Status : Answered
Chosen Option: 1

Q‘.‘z I (FET-3) IROTAT (FEEER) H, TuRF T s Fed aw |

e X amafer oA

X 2 oy gt &
X 3 dicedr H gar g
V' 4 dreear sedr g
Question'ID : 719399928
Status : Answered
Chosen Option : 4
Q2 forelr PRI vard & e e F R gt % A e By FET ST 2

K. iRty @ A T
< 2. =Telehdl
X 3 sferr
v Rt sfaRt

Question ID : 719399864
Status : Answered
Chosen Option: 1

062 T Zioet # e U Iy T 0 Y, @ B = 100, I = 20pA f@w gam E

Ans of 1.2.02 mA
X 2.0.0202 mA
23 0.0198 mA
X 4.1.98 mA

Question ID : 719399984
Status : Answered
Chosen Option : 3

quiqmmé«'ﬁtr, TF F AN I TSR FL aTe aRT F GhT FE TR0

Ans o 1.3 KW
X2 6 KW
X3 45 KW
X 4 5 KW




Question ID : 719399998
Status : Answered
Chosen Option : 1

Qéz In an induction motor, the slip ring is made up of:

Ans 1. copper
+ 2. phosphor bronze

/< 3 aluminium
/< 4 carbon

Question ID : 719399955
Status : Answered
Chosen Option : 2

U e & @ FiF Seear O TS (VSI) T 3EEIOT A6 E2
Ans X 1. GTO

X 2 fFa MOSFET

v's zE

X o ofFg eiferex

Question ID : 719399966
Status : Answered
Chosen Option : 4

C REm e FaEE F e W |
Ane X dieT faggea #T AgaT Ao e §
X 2 HEe = gfadyr 3w 5T ST &
v 3 3 = gfade gear &
X o foar g =7 wfeRiy wfafaa &9 § gear €

Question ID : 719399883
Status : Answered
Chosen Option : 2

03 smafea et @l Rt mweam saen fr _ wawas g
Ans 1 FHH, HH

X 2 i, e

v mE, HEw

X4 wies, wa

Question ID : 719399851




Status : Answered
Chosen Option: 2

Q3 ofx gee Rwgfer o siawe & FA g, A FSO0 (winding) Y S
Ans X1 g saateg (whole-pitched)

X 2 quT eRrfera (full-pitched)

v 2 3fares staTtea (fractional-pitched)

X 4 37 autea (half-pitched)

Question ID : 719399978
Status : Answered
Chosen Option.: 3

Q} TrffeT & @ Fi9 @ ReeT I HRUAT T H T 3R §7
e XK. el Feier w0

X2 e A

v 3 Js-ufas oo

FAR ot o e o

Question ID : 719399879
Status : Answered
Chosen Option : 2

W ez T T &, s v o AT @
Ans X1&§?WE;EE?I'

V7 HTHER # YURT 0T

X 3 THEIT FEFeT

X 4 ZEH ST URT

Question ID : 719399899
Status : Answered
Chosen Option : 4

Q.3 ws F= & 1000 &&= (turns) §1 5 A T 9T 6 mWb & HTHETE 3o ST § ST Fsa § wafaa
5 ¥ = 1 e T Y

Ans X112 mH
X 21200 H
v312H
<4 0.833 H

Question ID : 719399876
Status : Not Answered




l Chosen Option : --

as 3% 390 ¥ forEd BJT 3 MOSFET 2t & =mr g &
ans X 1. MCT

< 2 SCR

v 3 IGBT

X 4 TRIAC

Question ID : 719399987
Status : Answered
Chosen Option : 4

O Harere (wgfer) o ¥ T efaae § @ ST arhewo @@

Ans

s N H 9T 0T
1. HIAd 901k = =
x 2 T el
: T el
2. T 0T =
x 2 HTEIRH HITel 0T
. OO TTeT= 0T
3. Hileld F0R = — =
v 3 T e
X 2. ‘T FORE =L P
2 TOrdH HTA= 0T

Question ID : 719399973
Status : Not Answered
Chosen Option : --

% PVC &1 9ot w7 = §72

Ans

X 1. positive voltage conductor (qifaifea S F3a7)
X 2 polyvinyl cloth (JTeNfaaTSer Ferrar)

v = polyvinyl chloride (STeNfaaTEer FeiEs)

X 4 pressed and varnished cloth (35 TE a1faer Fena)

Question ID : 719399868
Status : Answered
Chosen Option : 3

Q3 orr-tper, - FIET 3, SR ORI W W @ ST ¥
M ag gEEE T

X 2 gOea FIUT ¥ TAT B &

X3 3afYfPE 9= For

X 4 BIE g@=F HIOT




Question ID : 719399991
Status : Not Answered
Chosen Option : --

U frm TR 1 fose umr wE F T 9T gEe Fr srufdear & s §2
e K1 s amr 3k 3=9 Seear

X2 B arr #R @ aeear

X3 e umr AR 39 deedr

v 4 F=g ORT AR e deear

Question ID : 719399948
Status : Answered
Chosen Option: 3

Q.4 =g 3yeor & F1 FEa § S s # R oiwd #, Tga yearadt seear @ @Y =) geaEd
1 dreear & aiEfEdg w=war 2

M gegradt R dreedr g
X2 sy

< ofaas

X+ fese arr dreear s

Question ID : 719399965
Status : Answered
Chosen Option : 4

L JeueeE AT =l
At X ma: vadt J@ex

v 2 TEa: yadt AT J8r
X 3 g AT

X 4 fasT amT AT
Question ID : 719399952
Status : Answered
Chosen Option : 1
94 Rega v # % & deear T W TET ARl & S4B S 2
A" o111000 Sree
# 222000 Free
#< 31100 e
X 4 20000 Free

[ Question ID : 719399863




Status : Answered
Chosen Option : 1

Qb ifsie & ot e o o s R o 3 fare o e
K e e

K2 Fzae #r ol

X3 gfesEs

v« Taega e s

Question ID : 719399872
Status : Answered
Chosen Option: 4

U foer urr Fex & Afy Ao & o B queh & gEw e A

Ans ‘,1.
Tg oA, Tl AR = aifa T sae Ha gl

X 2 30 B Al F BT of seaAEe &R o gear 2

X 3
g Rega AFT # 3T F FH #A F O UF Afa9es 9 F S9AET HT g

X 4 gefr oify 9X 3= @A Z8rar B B

Question ID : 719399909
Status : Answered
Chosen Option : 3

Q4 %uE & Rege yTues  guv o & 3En, fega 1 w9 A @ ge G v fffes Terdt
6 & st = gemE 3 & AR Fan

M TS 3T SR
X 2 Zoledls & T
X3 s e

X 4 9T g IEs 5o

Question ID : 719399882
Status : Not Answered
Chosen Option : --

Q4 FErFstm sni e o 98- 9w FfEE F 51 @i § it 9w @i & 20 sewet #1500 gU
7 i e (rpm) T o g¢ FAA F faen deear sodew gy HEEE 7.0 mWhb T T B

Ans X 1.189.5 V
X 2170 V
X3156 V




v 41785 V

Question ID : 719399897
Status : Not Answered
Chosen Option : --

U drar s d F 5 Rege-amaed (gewereTse) 1 g G e 32

e o TergfE TfEE
X2 fBfEees aex
X 3. FefEge s
X 4 HEer 3iTeETSE

Question'ID : 719399887
Status : Answered
Chosen Option : 1

%' e ofonfa (gEwER) A gw et

A o1 Freear Bk amr
X 2 o
X 3 Freear
X 4 dreear AR g F €= arer S

g7 e FEr B

Question ID : 719399929
Status : Answered
Chosen Option : 4

Qésﬁqwmmaarsmmqp‘rmmamqp‘rﬁ Zifer & FWoT FA g ¥

e 26 el
X 2 grar
v
X+ gty

Question ID : 719399912
Status : Answered
Chosen Option : 4

% vadw qewEw # gl & g3 fefae B e 2
o fese uRT @ 3TEETE & @Y e @ Ak & T

X 2 & gt @ G a0 F B
X o, ST ¥ e &9




X o e & frr ¥

Question ID : 719399993
Status : Not Answered
Chosen Option : --

Q5 o fve umT (DC) AT # FAT TR F1 T T FOT FW E (#)?

Ans ‘,1.

IHIT H ol Fsol, T IHeIYT (Sexaien) AN e Frfder g

X 2 AT FATELT =
X o BT FAYT (SO
X o 3R # e FEer

Question ID : 719399892
Status : Answered
Chosen Option : 1

Y T § ¥ gE #iex & Bovar F=w
M 3= yade we et ik oAy

X 2 T g9aa a0 3T 3K 3R afq
X 3 oot yaas a9 HEor #R = oAl
X 4 39 Jaod g9 30T HR FER AT

Question ID : 719399959
Status : Not Answered
Chosen Option : --

U F=feflE & ¥ FiF T 9% oF 9T AT IR dg FifeT g m?

Ans x_l. a'.lplti_q_
X 2 Tegd & =9

A3 o
v 4 g 99
Question ID : 719399908
Status : Answered
Chosen Option : 2
L z=w amEe w Rty # g REe T gerd F grar &

Ans X1 3= T




X 2 3o u
v o GTcHS dTaATE 0T

X 4 HUNHAS dATIHAA [0TH

Question ID : 719399884
Status : Answered
Chosen Option : 4

QS sy (§evdr) F1 gET F R aw7 (DC) H F AR (715) @ R qw #R
ReFaRads (F60eex) F & & &7 HT 2

v Tl
X anr (FE)
X 4 ot

Question ID : 719399891
Status : Answered
Chosen Option : 2

0%5 T feve aRT (DC) AR #, wHiefie Femgur Fr T § Iewfea I S g

A 1 ger 3R R
<2 e
X s eafiEas

X 4 |

Question ID : 719399890
Status : Answered
Chosen Option : 1

L v vz umr SR B Zaar By ufy & aftwas o 2
X gge Fife = smsege At

v 2 TT g@ife = 3R g

X3Eb=v

X &R gifer = &g afer

Question ID : 719399893
Status : Answered
Chosen Option : 1

QS5 v T FifET FEA werE S, T FE, a0 § O, FegeR § 5w, don, 9@ geel gk w
9 Eicre i icrp it ind-rotl coio o il
Ans




v 1. 560000 HH +5%
< 2. 56000 A +5%
2 56000 3\ £10%
# 4 560000 3 £10%

Question ID : 719399878
Status : Not Answered
Chosen Option : --

Q.6 500 V 5% v 8- e FfET F AEeTE 200 A ¥ TerEASS 3T & 1280 FEwew A 160
0 e (Frger) o €1 3R 7 FO-AR SEEE 36T (neutral axis) T 4 WT 39S & & W T

IR Tagawar tRaaT i & s S
Ans 1. 780
v 2800
< 3 890
X 4 870
Question ID : 719399894
Status : Not Answered
Chosen Option : --
01-6 FT 3T TedEd U SR AT Jod Gega e & v fear e #
Ans of 1 UPS
< 2 MPS
< 3. RCCB
< 4 SMPS
Question ID : 719399992
Status : Answered
Chosen Option : 4
%Y Scmer gy smaEr & r

Ans X1 10% gererder #r WX g ¥
X 2 50% erter #Hr=r @ 3T Far &
v 3 90% FeRrer A Fr T AT &
X 4 60% werter #=r #r 3T AT §

Question ID : 719399945
Status : Answered
Chosen Option: 3

e X g

U6 Frmfaflm 3 & w7 @ ofww for R weeige s anvat 3 softvs df dvr &7




X 2 T
v ¢ g
X 4 33TYe BaEH

Question ID : 719399974
Status : Answered
Chosen Option : 4

% 1 kWh Rega w=ir & TR e B

Ans 1. 3600 W
v 2 860 kcal
X3 4186 J
X 4 3600 J

Question ID : 719399867
Status : Answered
Chosen Option : 4

%° A wattmeter is a/an:

Ans  of 1. indicating instrument
/< 2. recording & integrating instrument
/< 3. integrating instrument

/< 4 recording instrument

Question ID : 719399940
Status : Answered
Chosen Option : 1

W uwferaE oA $r s I 7
Ans x1ﬂﬁmﬂ'ﬂ'

v 2 EEen

X 3 gl

X 4 FET

Question ID : 719399871
Status : Answered
Chosen Option : 2

% oo AR T #, v @ ot AR w= @ aiRe
Ane X 1. Fifaew F@=T FT 75%
X 2 FIfas AT FT 150%




X 3 Ffaes AT & 60%
v . FIfaE AT FT 40%

Question ID : 719399918
Status : Answered
Chosen Option : 3

L =T F ¥ Fi7 7 Reey Ronfay #1 geme g ad 2
Ans X 1. 9aTHe (Breather)

v 2. faereTE (Isolator)

X 3. =TEX (Bushings)

X + g (Conservator)

Question ID : 719399936
Status : Answered
Chosen Option : 2

== =

% fow T et # ¥ W vl # 3= faega iR @ €2
Ans xl ﬁ r
X 2 =réy

A =
v 4 HEE
Question ID : 719399889
Status : Answered
Chosen Option : 4
067 = IE s § Ue et yEar Azl e ¥, o 7 v & S B

o paER dEfETe
X 2 N Tepeaex
X3 HAT THIFEFT

K 4 AS THREEET
Question ID : 719399980
Status : Answered
Chosen Option : 2
Q.7
;| 2T FYT TIUF |

Ane X 1. ST yaeie @ IgeT TIOT ¥
X2 ¥T3EYE # RvH gHEieas # FF




v 3. g grHEifas # F7 Far &
X 4 TR TTHTEST F TN AT E

Question ID : 719399994
Status : Not Answered
Chosen Option : --

g G (@R
XK 2 ST FEAT (ATETE)
X s 9rer 3T GET FIer ()
X o TET FEA ()

Q; ofe smfe FEar 2 ar AIC Jef|r & wateT gt Fr g 9 fr gEr ¥ auE @ B

Question ID : 719399968
Status : Not Answered
Chosen Option : --

°é7 Material used for electric heater is
Ans  of 1. nichrome
/< 2. china clay

/< 3. copper
/< 4. tungsten

Question ID : 719399886
Status : Answered
Chosen Option: 2

Ans 1.8
X2 4
<36
v 2

047 fosz umT Aol #, 4-Srer SHET EE BTEET AT AT ¥ WA 9w HEar =4 g 82

Question ID : 719399947
Status : Answered
Chosen Option : 4

Ans  of 1 e, e, e
X 2. ST, e, Grelm
< 3. T, dremT, e

Qé7 AT o (Faere) F AT sugier fFu S arer 39 ) &, PVC Tue &1 37 7 g1 272




X 4 Frer 3T e

Question ID : 719399862
Status : Answered
Chosen Option : 1

% P & @ frwd moneRs aoHE T Ad @ 37

e wegfates
X2 Hog&
X 3 HETS
X4 T

Question ID : 719399858
Status : Answered
Chosen Option : 1

Y Rt BT sl o

Ans f 1 4
xX22
X33
X 49

9T 3TEI0T Bl

Question ID : 719399983
Status : Answered
Chosen Option : 3

Q§7 For connecting and disconnecting rigid ¢onduits pipe,

Ans X 1. bending racks
« 2. pipe wrenches
/< 3. conduit pipe cutters

/< 4. pressure benders

tools are required.

Question ID : 719399853
Status : Answered
Chosen Option : 2

Q.7 T wi A e o FEfETa PN S eeE | Owd FRe & yerer & §ue &

% 3w g uw wE ¥

X goT s

X 2 afadf sferdr (@) s

v 5 wREEE
X 4 LED




Question ID : 719399982
Status : Answered
Chosen Option : 2

Q8w ¥ FR A, T FH T F Bw geem (@) G e
AnS X et Ay g

X 2. AF IR

X 3 3oarfed dieedl

v o TEawT gl

Question ID : 719399977
Status: Answered
Chosen Option : 4

Q.8 .y . +
1 fosea B Aex A, =eE FEr A g 2

e Xz RIRs=L
X2z RIRTEF=L
Xefa R3IR @=L
vizzg L AR R= R

Question ID : 719399958
Status : Not Answered
Chosen Option : --

Q.8 35 vk ofg F O Tiaw ganr Hatia e San g, o e F ant @ T @ sl o g
2 3gET T Sar 37

X de el e
X2 g thiehe T
X 3 gr vl Taw 3R v Fueuadr T
v o g gfa-aett fEgT 3R v Fenadt Tew

Question ID : 719399917
Status : Not Answered
Chosen Option : --

Vormsaw gy s Bmm & sgeaer #9097 ST T
Ans X . ofyonfas

A2 gegmatas

X 3. fgsz arr (DC) FfaT

v+ fgsg umrr (DC) AX




Question ID : 719399874
Status : Answered
Chosen Option : 4

8 frez omyr Aot HreT T Talla TE THF

A XK. quteRT E@red Y
X 2 qUIaT REeET

X 3 FI-HR ¥ AR wEed

g 2l

V4 qUT AR aF REed A AR 9 el @

Question ID 719399904
Status: Answered
Chosen Option : 4

% A= lR F AR, O 2 W,
Ans 17000 & 1000 3T 9fy ==F I ¥ =

g gl

v 270,000 & 100,000 373 9fxr o7 €T & &=

X370 ¥ 100 30T 9fy I & & &=
/4 700 @ 1000 31H 9fd I §#T & &+

Question ID : 719399921
Status : Answered
Chosen Option : 1

068 ofy 220 dee freffid dex 110 Jee r amfE @ Jor @ & g% g seafeq A1 et

Ans 1‘1. W—ﬁ’-ﬂé
x> A
X 3 JAT
K4 Hredt

Question ID : 719399866
Status : Answered
Chosen Option : 4

Q.8 zr ant & wfeRr s@er # T @ W 25 3# (ohm) 3N WA # 3T @+ W 6 3\ (ohm)

7 Todish a1 7 Wi F4r 2
Ans o 1.10 ohm, 15 ohm

/< 2 5 ohm, 15 ohm
/< 310 ohm, 20 ohm
< 4 20 ohm, 5 ohm




Question ID : 719399856
Status : Answered
Chosen Option : 2

Woargsdr  uwalk _ deear fve o S & fe swgea
e XK. e 3=

v 3= A

s 3= 3=A

K4 e T

Question ID : 719399898
Status : Answered
Chosen Option: 2

QB ofomf (FEEER) PR TEe __ T B e o A @
e KO gt s

v 2 e

X3 g ed

X 4 FETS

Question ID : 719399927
Status : Answered
Chosen Option : 2

Q.9 smen & 52 7@ Y T 15 V 3T F €1 G % AR F FF @ A 5 O o

0 seorfem vmi
Ans of1.15 V
X223V
K330V
X415V
Question ID : 719399881
Status : Answered
Chosen Option: 1
% pvC art & wanr ¥ e frar =mar 3

A 1 e 3k meE deear
X 2 Fger TFT Ireear
< 3. F==r Freedr

X 4 Fger FeOH Fecdl

Question ID : 719399972




Status : Answered

Chosen Option : 1

Q;’ arer AR G FEelr & v, o e AR I dowe S wEme | ger =il
i o1 gt Rma
X 2 911 Fzer & v fFwe A a6 FEf F v wA
X3 gar 71
K 4 9rer Fzer & T wH AR T FEor F v fww

Question ID : 719399949

Status : Answered

Chosen Option:; 2

Y w swgfem wer-adfsE sfoy & i (Fge) ar & aw A e 82
e K ly=lr—Iy+Ip

voly=Lg+L+Ig

K3ly=Ig+lk—1Ig

Kaly=lg—k -1y

Question ID : 719399925

Status : Not Answered

Chosen Option : --

% eI Tomw o H wEET T F e e §7
A K1100 B

v'2 200 5

<3300 =

X 4 400 T

Question ID : 7193991000

Status : Answered

Chosen Option : 2

059 ¥t 3T (T9) F T, Rege-avued (soegeTse) AEE ¥ U @ g ok
Ans X 1.0 °C

X 2120 °C

V'3 40 °C

X 4 FHEEE d9A T

Question ID : 719399888

Status : Answered

Chosen Option: 1




Y R Fg WX, Fve unr 9T Hex B |
e K o §g ST

v aidr FF g A §

X5 TBR == T

X 4 HIFAR & § ST §

Question ID : 719399907
Status : Answered
Chosen Option : 2

Q§9 JeawItae AT &, yEsek I & A8 Wgied 3 % Seedl 94w @A ¥
Ans X1 qﬁ-mﬁﬁuﬁr

X2 e Tty

V3 m@%r—r a1 e

X 4 wgfea s Fufa

Question ID : 719399969
Status : Not Answered
Chosen Option : --

% U T THs A geFH o . # ;T F @ g
e X1 e R

X 2 TR

W 3. Fssr efEaT

X 4 el ofETeR

Question ID : 719399981
Status : Answered
Chosen Option : 2

Y ww aftaw O &, amw F aftuw & g
Are XK i srEEem
X 2 gF HIET

v 2 IE FTERT
X 4 ITST ITET

Question ID : 719399944
Status : Answered
Chosen Option : 1




L

Q.1 AT T 3T RS F 92 st F TR 3k Aot F B S

o1 Megger is used to measure

Ans X" 1. contact resistance
/< 2. winding capacitance
/< 3. power consumed

+ 4 insulation resistance

00
ans K0 e A

X 2 gefog (faaes)

v 3 srETe Ufa

X 4 PVC ofe

Question ID : 719399976
Status : Answered
Chosen Option: 1

Q.1

of electrical apparatus.

Question ID : 719399938
Status : Answered
Chosen Option : 4

%) DOL wad& &7 warer
Ane X e iR @)
X 2 3= T ()

v T Tt ()

X 4 Fger TeeT A=A

oy mef & T R e

Question ID : 719399957
Status : Answered
Chosen Option : 4

Ans x1&}|?w

(3%3’3%@3’[%’

Q1 frez umr S #, seNRE Regs aEw AW & SEEA @ §)

X = 3T Fefat & we

X 4 3T gaEaT ot $r g

Question ID : 719399901
Status : Answered
Chosen Option : 4




%-J BT & ¥ 59 3990 F1 39T Sad e uR AT T A9 § & B s 32
Ane X1 mmer Wi HreT

X 2 gredAeT

v o Tl g% T FEe HieX

X 4. TEhIRT AT

Question ID : 719399937
Status : Answered
Chosen Option : 2

U GreT 37aRTer dr afsmeT T 32

e ofy drer smfe @rEt $ TE
yﬁ;xmﬁmwammmmmﬁﬁmu
g'mwmmmﬁﬁawamﬁ@
m?;;r#maaﬁtwwﬁﬁmeﬁrm

Question ID : 719399946
Status : Not Answered
Chosen Option : --

b6 T ARONRAT / TEGER F & WieaEstear @ &
M o Taegd w9 ¥ e AR T 79 ¥ wetE

X2 frega ¥ @ weRg d#X g9hT &9 & @eiog

X o faega ¥ & e AR FEHT T F T

X o FEhT T-H e AR g w9 & watd

Question ID : 719399926
Status : Not Answered
Chosen Option : --

7 e e Reedt # & S FRe @ o ad
Ans o1 TRT
Vo HeET
X 3
3= dleedl W FIFA F 56 W A Rgga g




X 4 8T

Question ID : 719399962
Status : Answered
Chosen Option: 3

b e umr Sfaw & gfaewor FEe & = TufAE FRoT F A2

Ans X1 maETT wiiEE RaRor sATT 1@

X 2

ITHTR aehed g Fof (mmf) F HATTISE (neutralize) FTT|

v 3

HATEY Fahyy HFSE F IS (neutralize) FaTI
X+ 7T FiEawg 7 w4 & R gfowr w5

Question ID : 719399900
Status : Not Answered
Chosen Option : --

Q.1 sfasy & Feiest F FR0T 5 o Rege ooy & fewa # e on gfy F erawn g e

09
Ans of 1. 20%
X 2 50%
<3 10%
< 4 60%

Question ID : 719399997
Status : Not Answered
Chosen Option : --

‘:g Which of the given options is used as a decorative lamp?

Ans X 1. Discharge lamp
« 2. Reflector lamp.
/< 3. Gas filled lamp

/< 4 Vacuum lamp

Question ID : 719399999
Status : Answered
Chosen Option : 4

U v umr wl A, S FEd v few F @ Sl @ e w2

Ao X1 Yg =Yg
v2Yy>Y;
X3 Yp <Y




x4- YBZYF+1

Question ID : 719399950
Status : Not Answered
Chosen Option : --

2 IIEfEST F HaFeH FEer FRAtorT & ST 87
e X1 w1 GrerT 9o Wae & forT

X2 Fua g & forw

X 5. geTgYT FE & forw

v 4 =Tl g 9N HeE & fore

Question ID: 719399934
Status : Not Answered
Chosen Option : --

A gemEe it e F e R ywR F O a5 v Bareen 3
e X aifgas Ty B

v 2 e o

Ko Fagd o

Ao Fradred of

Question ID : 719399943
Status : Answered
Chosen Option : 3

3: vz amT ofe AeT F fAre afy Sower & sfatvs B F, s sveds @ aaaer B e

FATAT F1
M ST ¥ See sRF T e
X 2 FHE HITAr
X3 Fwm geten
X 4 AR "ot & foT 3gaged
Question ID : 719399911
Status : Not Answered
Chosen Option : --
% T & freg TwEor F vera BT ST B

X e (FEe) aR T (I
X 2 arg 9RTET (F3gE) AR TS (I




V'3 CTS wafg ar o= (Frgiee)
X 4 FHE F HEIOT HT T T TANS (IR

Question ID : 719399919
Status : Answered
Chosen Option : 3

0.61 UF ZEY F FAGK 99 W@ BT o o FFE @ 4R # gE F Rrafie s & e we i a3
1

A 3 BT arn-Rame (Reiede) = gameg w
X 2 3% 3R oftay § 9fary seE
X 3 3% wEER ofgy & oy & gamfEa =
X 4 gHEH FWSF FT ST ST

Question ID : 719399903
Status : Not Answered
Chosen Option : --

Q.1 57 u=oT # 2T Fad § S AT P Seedr HR AT W Bse owr ofFa ® gemEdt aw
17 ofee 3 oRafda @ 2

Ans KT ﬁ E

X2 s

X 3 fEsTan

v 4 T

Question ID : 719399964
Status : Not Answered
Chosen Option : --

Q.1 offT o (¥ amer s amT AT Ot Fa & BT ant-aer ofteds & g
18 oo g gl

At o1 400 W T FH
X 2 400 W - 4000 W
X3 4000 W - 8000 W

X4 8000 W & ¥fas

Question ID : 719399990
Status : Not Answered
Chosen Option : --

Y e amr I #F Rewfads #1 teAT =T gl
Ans 1. FITH HT3TYT WETe FHIA

v 2 9fYT vooradt g &y s arr F ofEfag &=




X 5. HT3TYT Srecdr qgreT

X 4 FA T THORTT FH FHEA

Question ID : 719399913
Status : Not Answered
Chosen Option : --

Q.1 7w & v a1y Fuls #t w9% guiE & s gaw § o sus guis & after ag gl

20 2 nfrer & 6 TN @ o anvE B MY Regee F g
Ans X 1.0.166

X23

K312

v 6

Question ID : 719399877
Status : Not Answered
Chosen Option : --
———e

%-11wmaﬁamﬁﬁmmmarm:maw gar o S B

Ane X1 31 (earth) Toie
v 2 urfee
X s ar-fagees (Rdede)
X 4 J@er woIT

Question ID : 719399885
Status : Answered
Chosen Option: 2

3-21 oz amr ST &, g st ofEe ot = o Ty

e XK T gt
v ST a
K3 gute gife
Ko FR g

FT ST B

Question ID : 719399895
Status : Not Answered
Chosen Option : --

% aREdt gfaes (Varistors) &= gy ¥72
Ans x.l_ 'ﬂﬁ Fr :1
X 2 FET 9w




X3 Juew
v 4 e wiaeres

Question ID : 719399857
Status : Not Answered
Chosen Option : --

Ans X 1. 750 rpm
2 2. 2000 rpm
2 31000 rpm
2 1500 rpm

3: 50Hz Feamae URT WX T A 4- e Jeuwee Bl % e dwe Fr quie afy F@w geh?

Question ID : 719399953
Status : Answered
Chosen Option : 4

% IROTfAT (TEEER) Fr TAWT ZEAT F9 39 G 52
M o I FEE i sl @t & e @

X2 59 Ig O AR &

K3 o9 Fsi g @lg gfer § O &l

X 4 FF T Haa: 9 2

Question ID : 719399930
Status : Answered
Chosen Option : 2

ans 1. 63 Hz
<2 3 Hz
V'3 18 Hz
< 4 60 Hz

2-61 TE 3-%, 440 V, 60 Hz SRoT FRTe & 3% FIOT ¥ U ORT i sgfea @ grE?

Question ID : 719399956
Status : Not Answered
Chosen Option : --

Ans 1 gfeRra B
X 2 HfASEE g9

% RE T et F ¥ Fi9 "EfE A &g oy oo B ad i




v 5 greear RgEer a7
X 4 7qFREY a7

Question ID : 719399961
Status : Not Answered
Chosen Option : --

28

e T seEeEr 3R Wt & A e
X 2. uTg GIATHT F A" O THE
X o FST AR ¥ A FoFgal & HIH
X 4 FETeI SolaelAT o ST HTIHT TS

Q1 g fega urr uifcss FsaeT ¥ 29T TRl &, O JA 8 FROT 98 AT 87

Question ID : 719399859
Status : Answered
Chosen Option : 3

Q.1 cfonfas o qoiw @sfhe § 7 59 F BT sTier & Ser e @eEt F fre ghet B-H mer &7 @

29 it g i

K 7 e A g e e
v T e afe Fa a8
X 2 o e v ar gife Iouea aa 2
X 4 38 3= ToEE g« 3t 3Egae @ gl

Question ID : 719399873
Status : Not Answered
Chosen Option : --

Q.1 e T &1 o gfader 50 #r Fr gear & fHaree @ grog 9o & & Ad g

30 e

Ans xl ﬁ ﬁa-fh‘%?ﬂ'
X 2 it
v o aiay & gt
Ko feae

Question ID : 719399920
Status : Not Answered
Chosen Option : --

% T T F TEES F 3T T &7

Ans X . AT FEE T




X2 g1 % I F Aol HAT
o G P H A § AT
X 4 ggTel B ST ¥ =

Question ID : 719399915
Status : Not Answered
Chosen Option : --

0321 ofy & REgle o7 F3 3RS I RIS F e g7 o §6 s H FET ST B

M 1 ot siEfRE (full-pitched)
X 2 gHET gufad (whole-pitched)
X 3. HT Hgufera (half-pitched)
X 4. 3frs HTTfera (fractional-pitched)

Question ID : 719399967
Status : Not Answered
Chosen Option : --

U1 afy v #r 6 w2 & T 10 A orw & § o b @ i (R w2
Ans X' 1.10 Ah

<2 6 Ah
#< 3 600 Ah
v 4 60 Ah
Question ID : 719399880
Status : Answered
Chosen Option : 4
% BET FT gTed Fat NS 2
Ans {1.

S FleY Fedrad R A & F@enfer @i ¥t s @ g g
aﬁiﬁa%mmﬁﬁﬁﬁam%ﬁmﬁmﬁmﬁl
g%mwmﬁﬁmﬁm%mmmmm
Qf;ummmﬁﬁmﬁam%wmmma

Question ID : 719399960
Status : Not Answered
Chosen Option : --




Q1 v, Soer@, o Wi R o B @ e o qar qeidt STl 12
ans g VAV,

X 2 VI /43

X Vil

X 4 \3Vpylpy

Question ID : 719399923
Status : Not Answered
Chosen Option : --

U] gemadt amr (AC) TRy #, Wi v Ak amfes & i F e 2
Ans o1 X, = 1/2xfL

X 2 X, = 4nfL
X3 X, =nfL
v X, = 2xfL

Question ID : 719399924
Status : Not Answered
Chosen Option : --

0371 fre fmm & sER SR Regd s o0 & RFer ¥ 309 = T wRE F T o {2

A B @ e
X2 3\ @ e
X3 % v RTw
X 4 Taega squea s

Question ID : 719399875
Status : Answered
Chosen Option : 1

03-; 21 TRoNTEST (TEwE) F TR SO & G, e § § frw Rty @ oree ad fee s
=ifg?

X 3 oee amEfe WX gefaa @ =i
v 2 FFe g R () A g@er o
X 3 3T Freear fFuR (&) g e ger T
X 4 3T GRUTHAR AT FAA g AR

Question ID : 719399931
Status : Not Answered
Chosen Option : --




°3'91 Which of the following is NOT a method for conduit wiring?
Ans % 1. Pushing in

/< 2. Threading through

« 3. Drawing out

/< 4 Drawing in

Question ID : 719399970
Status : Answered
Chosen Option: 3

% TfETex oi 3= & ¥, YT #9 @ S 2
M S gfese R Hha g o &
X 2 F9 3cH=d ST /T HEAT @
X 3 F9 TS ACTH W H I Ja0ET 7 &
X 4 FF Ig HATHAT &

Question ID : 719399996
Status : Not Answered
Chosen Option : --

¢! For an induction motor, no-load slip is:

Ans X1 50%
X 2 0%
« 3. less than 1%
< 4 100%

Question ID : 719399954
Status : Answered
Chosen Option : 4

Q) cHmERE:, G AR T 3T Rse uRT A # F B e §e
A T R Yeoeraa Revare 2 F
X 2 g g B &1 39T 38 Far ST e @

X 3 5§ @Ra A T aifea @

X a
s e, aeas e 3t Rfeer 9w scofy & Fafia & an

Question ID : 719399910
Status : Not Answered
Chosen Option : --

Q.1




® SRR # ¥ FiF @ BT e gRRRE 39er §7
Ans 3¢ 1 LASCR

v 2 TRAIC (TI=F)

X 3 SCR

X4 EE

Question ID : 719399986
Status : Answered
Chosen Option : 2

W TR A e # @ s ek g 12
Ans «1@5‘[‘?

X 2 T SI-THS

X3 T AT

X o gt S

Question ID : 719399860
Status : Answered
Chosen Option : 3

%; Rrega wEe & @ aor # F FEd § FEF FROT 3EH T 9N (FR) v A 32
Ane XK. et

V' 2. SR dr

X 3 gfeRre

X 4 YT

Question ID : 719399854
Status : Answered
Chosen Option : 2

% FUEHET T F TF T URT (AC) F o ot Fa 12
ans X 19,11
X 2 14.14

V'3 1.414
X111

Question ID : 719399922
Status : Answered
Chosen Option : 3

371 eI Fm i oA F o A R & T AT & 9 ooF & B sm
@ 87




Ans x1mw
v 2 9T Eegd 98F T

X 3 HqfS amr
X 4 HTHEET gry

Question ID : 719399906
Status : Not Answered
Chosen Option : --

%g Choose the ferromagnetic material from the following options.

Ans X 1. Lead

/< 2. Copper

v 3. Cobalt

# 4 Gold

Question ID : 719399869
Status : Answered
Chosen Option: 3

Q.1 v a7 faggd TRwy &, IR (deear 919) @ ASEOET Ghd 5T w7 d o ol e ¥
49

Ans X1 gEd FTCTH ¥ varfed @ arelr erT $r AT
X 2 R & AF

X3 g2l gaea
v ¢ ORT & yarg & fEen

Question ID : 719399865
Status : Not Answered
Chosen Option : --

S0 T RRIY we gumeh # 3R A gear w i 4w 87

Ans of 1. 30-40
X2 6-8
X 3 15-20
X41-3

Question ID : 719399975
Status : Answered
Chosen Option : 2




